Bid Proof

Bid Number: 10008667-10-V

Bid Title:Bottled Water Delivery, Dispensers, and Paper Cups

	DS WATERS OF AMERICA, LP Vendor ID: DAW 05002684				Days ARO: Opt To Renew Pct. (%):	"1 business" "none"		Disc Terms - Days: Disc Pct. (%):	30 0.00	Addendum: Tax Rate Pct (%):	N/ATT 0
Section	1										
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product N	umber	Quantity	Unit Price	Extension	Тах	Final
1	Drinking water, 5 Gallon bottles, shall be "Natural Spring Water" or filtered local water with mineral content removed to an acceptable level as stated in the attached Specifications.						12,515 EA	\$2.00	\$25,030.00	\$0.00	\$25,030.00
2	Distilled water, 5 Gallon bottles, shall have all minerals and contaminants removed by distillation and shall be suitable for automotive battery use, as well as drinking.						125 EA	\$2.00	\$250.00	\$0.00	\$250.00
3	Drinking water, 1 Gallon bottles, flat caps, 6 Count/Case, shall be "Natural Spring Water" or filtered local water with mineral content removed to an acceptable level as stated in the attached Specifications. Unit cost per case to exclude CRV.						130 EA	\$4.50	\$585.00	\$0.00	\$585.00
	Response(s) to Other Requirements ► CRV Fee per Case: .60										
4	Drinking water, ½ Liter bottles, flat caps, 24 Count/Case, shall be "Natural Spring Water" or filtered local water with mineral content removed to an acceptable level as stated in the attached Specifications. Unit cost per case to exclude CRV.						12,000 EA	\$4.60	\$55,200.00	\$0.00	\$55,200.00
	Response(s) to Other Requirements										
	► CRV Fee per Case: 1.20										
							Sect	ion 1 Subtotals:	\$81.065.00	\$0.00	\$81.065.00

					Sectio	n 1 Subtotals:	\$81,065.00	\$0.00	\$81,065.00
Section	2								
Item No.	Item Description	Stock Number NB	R Manufacturer	Product Number	Quantity	Unit Price	Extension	Тах	Final
1	Standard Dispenser.				20 EA	\$0.00	\$0.00	\$0.00	\$0.00
2	Chill Dispenser.				20 EA	\$12.00	\$240.00	\$0.00	\$240.00

	DS WATERS OF AMERICA, LP Vendor ID: DAW 05002684				Days ARO: Opt To Renew Pct. (%):	"1 business" "none"		Disc Terms - Days: Disc Pct. (%):	30 0.00	Addendum: Tax Rate Pct (%):	N/ATT 0
Section	2										
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Nu	imber G	Quantity	Unit Price	Extension	Тах	Final
3	Hot and Cold Dispenser.						138 EA	\$12.00	\$1,656.00	\$0.00	\$1,656.00
							Secti	on 2 Subtotals:	\$1,896.00	\$0.00	\$1,896.00
Section	3										
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Nu	imber G	Quantity	Unit Price	Extension	Тах	Final
1	Standard Dispenser.						1 EA	\$25.00	\$25.00	\$0.00	\$25.00
2	Chill Dispenser.						1 EA	\$90.00	\$90.00	\$0.00	\$90.00
3	Hot and Cold Dispenser.						1 EA	\$90.00	\$90.00	\$0.00	\$90.00
4	Container, 5 Gallon.						1 EA	\$5.00	\$5.00	\$0.00	\$5.00
							Secti	on 3 Subtotals:	\$210.00	\$0.00	\$210.00
Section	4										
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Nu	imber G	Quantity	Unit Price	Extension	Тах	Final
1	Paper Cups for Dispenser, 4.25 Oz., 200 Count/Sleeve.						140 EA	\$2.25	\$315.00	\$0.00	\$315.00
2	Paper Cups for Dispenser, 7 Oz., 100 Count/Sleeve, Paper Wax.						230 EA		\$0.00	\$0.00	\$0.00
3	Paper Cups for Dispenser, 9 Oz., 50 Count/Sleeve.						320 EA	\$2.99	\$956.80	\$0.00	\$956.80
							Secti	on 4 Subtotals:	\$1,271.80	\$0.00	\$1,271.80

•••	DS WATE	E RS OF AMERICA, LP DAW 05002684				Days ARO: Opt To Renew Po	:t. (%):	"1 business" "none"		Disc Terms - Days: Disc Pct. (%):	30 0.00	Addendum: Tax Rate Pct (%)	N/ATT : 0
							Subt	otals for DS	WATERS OF	AMERICA, LP:	\$84,442.8	0 \$0.00	\$84,442.8
											Miscella	neous Charges:	\$0.0
												Freight:	\$0.0
										Extraordin	hary Labor - 0 hours	s @ \$0.00/hour:	\$0.0
									G	rand Total for D	S WATERS OF A	MERICA, LP:	\$84,442.8
										F	Final Price (w/	Discount):	\$84,442.80
•••	NESTLE	WATERS NORTH AMERICA				Days ARO:		2		Disc Terms - Days:	30	Addendum:	N/ATT
	Vendor ID:	NES 05005373				Opt To Renew Po	:t. (%):	3		Disc Pct. (%):	0.00	Tax Rate Pct (%)	: 0
Section	1												
Item No.	Item Descr	iption	Stock Number	NB NR	Manufacturer	Prod	luct Nu	nber	Quantity	Unit Price	Extension	Тах	Final
1	Water" or	vater, 5 Gallon bottles, shall be "Natural Spring filtered local water with mineral content removed to able level as stated in the attached Specifications.							12,515 EA	\$1.99	\$24,904.8	5 \$0.00	\$24,904.8
2	contamina	rater, 5 Gallon bottles, shall have all minerals and ants removed by distillation and shall be suitable for e battery use, as well as drinking.							125 EA	\$1.99	\$248.7	5 \$0.00	\$248.7
3	be "Natura content re	vater, 1 Gallon bottles, flat caps, 6 Count/Case, shall al Spring Water" or filtered local water with mineral moved to an acceptable level as stated in the Specifications. Unit cost per case to exclude CRV.							130 EA	\$5.66	\$735.8	0 \$0.00	\$735.8
		(s) to Other Requirements											
	► CRVI	Fee per Case: \$.60											
4	be "Natura content re	vater, ½ Liter bottles, flat caps, 24 Count/Case, shall al Spring Water" or filtered local water with mineral moved to an acceptable level as stated in the Specifications. Unit cost per case to exclude CRV.							12,000 EA	\$3.99	\$47,880.0	0 \$0.00	\$47,880.0
	Response	(s) to Other Requirements											
	CRV I	Fee per Case: \$1.20											

	NESTLE WATERS NORTH AMERICA Vendor ID: NES 05005373				Days ARO:2Opt To Renew Pct. (%):3		Disc Terms - Days: Disc Pct. (%):	30 0.00	Addendum: N Tax Rate Pct (%): 0	J/ATT
Section	1									
						Sect	ion 1 Subtotals:	\$73,769.40	\$0.00	\$73,769.40
Section	2									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Тах	Final
1	Standard Dispenser.					20 EA	\$5.88	\$117.60	\$0.00	\$117.60
2	Chill Dispenser.					20 EA	\$11.88	\$237.60	\$0.00	\$237.60
3	Hot and Cold Dispenser.					138 EA	\$11.88	\$1,639.44	\$0.00	\$1,639.44
						Sect	ion 2 Subtotals:	\$1,994.64	\$0.00	\$1,994.64
Section	3									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Тах	Final
1	Standard Dispenser.					1 EA	\$25.00	\$25.00	\$0.00	\$25.00
2	Chill Dispenser.					1 EA	\$100.00	\$100.00	\$0.00	\$100.00
3	Hot and Cold Dispenser.					1 EA	\$100.00	\$100.00	\$0.00	\$100.00
4	Container, 5 Gallon.					1 EA	\$6.00	\$6.00	\$0.00	\$6.00
						Sect	ion 3 Subtotals:	\$231.00	\$0.00	\$231.00
Section	4									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Тах	Final
1	Paper Cups for Dispenser, 4.25 Oz., 200 Count/Sleeve.					140 EA	\$3.08	\$431.20	\$0.00	\$431.20
2	Paper Cups for Dispenser, 7 Oz., 100 Count/Sleeve, Paper Wax.					230 EA	\$2.98	\$685.40	\$0.00	\$685.40
3	Paper Cups for Dispenser, 9 Oz., 50 Count/Sleeve.					320 EA	\$2.05	\$656.00	\$0.00	\$656.00
						Sect	ion 4 Subtotals:	\$1,772.60	\$0.00	\$1,772.60

•••	NES 05005373				Days ARO: Opt To Renew Pct. (%	2 6): 3		Disc Terms - Days: Disc Pct. (%):	: 30 0.00	Addendum: Tax Rate Pct (%):	N/ATT 0
					Subtota	Is for N	ESTLE WATERS NOR	TH AMERICA:	\$77,767.64	\$0.00	\$77,767.64
									Miscellaneou	is Charges:	\$0.00
										Freight:	\$0.00
								Extraordir	nary Labor - 0 hours @ 3	\$0.00/hour:	\$0.00
							Grand 1	otal for NESTLE	E WATERS NORTH A	MERICA:	\$77,767.64
								F	Final Price (w/ Dis	scount):	\$77,767.64
•••	PUREFLO WATER COMPANY				Days ARO:	NN		Disc Terms - Days:	: 30	Addendum:	N/ATT
	Vendor ID: TEMP-PUREFLO				Opt To Renew Pct. (9	6): 2		Disc Pct. (%):	0.00	Tax Rate Pct (%):	0
Section	n 1										
Item No.	. Item Description	Stock Number	NB NR	Manufacturer	Product	Number	Quantity	Unit Price	Extension	Тах	Final
1	Drinking water, 5 Gallon bottles, shall be "Natural Spring Water" or filtered local water with mineral content removed to an acceptable level as stated in the attached Specifications.						12,515 EA	\$2.95	\$36,919.25	\$0.00	\$36,919.25
2	Distilled water, 5 Gallon bottles, shall have all minerals and contaminants removed by distillation and shall be suitable for automotive battery use, as well as drinking.						125 EA	\$2.95	\$368.75	\$0.00	\$368.75
3	Drinking water, 1 Gallon bottles, flat caps, 6 Count/Case, shall be "Natural Spring Water" or filtered local water with mineral content removed to an acceptable level as stated in the attached Specifications. Unit cost per case to exclude CRV.						130 EA	\$2.99	\$388.70	\$0.00	\$388.70
	Response(s) to Other Requirements										
	► CRV Fee per Case: .60										
4	Drinking water, ½ Liter bottles, flat caps, 24 Count/Case, shall be "Natural Spring Water" or filtered local water with mineral content removed to an acceptable level as stated in the attached Specifications. Unit cost per case to exclude CRV.						12,000 EA	\$3.99	\$47,880.00	\$0.00	\$47,880.00
	Response(s) to Other Requirements										
	► CRV Fee per Case: 1.20										

	PUREFLO WATER COMPANY Vendor ID: TEMP-PUREFLO				Days ARO:NNOpt To Renew Pct. (%):2		Disc Terms - Days: Disc Pct. (%):	30 0.00	Addendum: N Tax Rate Pct (%): 0	/ATT
Section	1									
						Sectio	n 1 Subtotals:	\$85,556.70	\$0.00	\$85,556.70
Section	2									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Тах	Final
1	Standard Dispenser.					20 EA	\$0.00	\$0.00	\$0.00	\$0.00
2	Chill Dispenser.					20 EA	\$0.00	\$0.00	\$0.00	\$0.00
3	Hot and Cold Dispenser.					138 EA	\$47.88	\$6,607.44	\$0.00	\$6,607.44
						Sectio	n 2 Subtotals:	\$6,607.44	\$0.00	\$6,607.44
Section	3									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Тах	Final
1	Standard Dispenser.					1 EA	\$70.00	\$70.00	\$0.00	\$70.00
2	Chill Dispenser.					1 EA	\$149.00	\$149.00	\$0.00	\$149.00
3	Hot and Cold Dispenser.					1 EA	\$195.00	\$195.00	\$0.00	\$195.00
4	Container, 5 Gallon.					1 EA	\$4.79	\$4.79	\$0.00	\$4.79
						Sectio	n 3 Subtotals:	\$418.79	\$0.00	\$418.79
Section	4									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Тах	Final
1	Paper Cups for Dispenser, 4.25 Oz., 200 Count/Sleeve.					140 EA	\$2.60711	\$365.00	\$0.00	\$365.00
2	Paper Cups for Dispenser, 7 Oz., 100 Count/Sleeve, Paper Wax.					230 EA	\$1.2826	\$295.00	\$0.00	\$295.00
3	Paper Cups for Dispenser, 9 Oz., 50 Count/Sleeve.					320 EA	\$0.85936	\$275.00	\$0.00	\$275.00
						Sectio	n 4 Subtotals:	\$935.00	\$0.00	\$935.00

•••	<i>PUREFLC</i> Vendor ID:) WATER COMPANY TEMP-PUREFLO	Days ARO: Opt To Renew Pct. (%)	NN 2	Disc Terms - Days: Disc Pct. (%):	30 0.00	Addendum: Tax Rate Pct (%):	N/ATT 0
			Su	btotals for PUREFLO WATE	R COMPANY:	\$93,517.93	\$0.00	\$93,517.93
						Miscellaneous	Charges:	\$0.00
							Freight:	\$0.00
					Extraordina	ary Labor - 0 hours @ \$0).00/hour:	\$0.00
				G	rand Total for P	UREFLO WATER CO	MPANY:	\$93,517.93
					Fi	inal Price (w/ Disc	count):	\$93,517.93